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QUESTION 1

Given the following excerpt of a Dockerfile:

Run apt-get —y update andand apt-get install -y fortunes andand apt-get clean

Why are the multiple apt-get commands combined in one RUN statement instead of using multiple RUN statements?

A. To prevent the commands from running in parallel because Docker executes all RUN statements in their own
container at the same time.

B. To ensure the execution order of the commands because Docker might evaluate the statements of a Dockerfile in
any order.

C. To avoid the creation of unnecessary images because Docker creates a new image for each RUN statement.

D. To execute both commands in the same container instance and void Docker to reset the container to the original
base image.

E. To execute the apt-get install command only if the apt-get update command was successful because Docker does
not check the success of RUN statements.

Correct Answer: C

QUESTION 2

Which statement in a Dockerfile defines which command should be started in the container by default when it is started?
(Specify ONLY the statement\\'s name without any values or parameters.)

A.CMD

Correct Answer: A

QUESTION 3

Which of the following elements are presents in a Vagrant box file? (Choose two correct answers.)
A. A Vagrant guest configuration file that is used to create instances of the box.

B. Configuration files for provisioners such as Ansible.

C. The installer for the Vagrant version which is required to run the box.

D. A metadata file describing the box and its requirements.

E. A base file system image in a format supported by the provider of the box.
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Correct Answer: DE

QUESTION 4

Which of the following conditionals exist in an Ansible playbook? (Choose three correct answers.)
A. with_nodes

B. with_playbook

C. with_sequence

D. with_items

E. with_nested

Correct Answer: CDE

https://docs.ansible.com/ansible/2.4/playbooks_loops.html

QUESTION 5

What is the Puppet equivalent to an Ansible Playbook called?
A. A Puppet Catalog

B. A Puppet Playbook

C. A Puppet Factsheet

D. A Puppet Declaration

E. A Puppet Manifest

Correct Answer: E
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